JPNA TRAUMA CENTRE ALL INDIA INSTITUTE OF MEDICAL SCIENCES, RAJ NAGAR, NEW DELHI-110 029

4.5.16

Dated:-19.04.2016

Ref No.:- SO/JPNATC/Proprietary-2/M&E/2015-16

Sub:-Purchase of Horse-shoe attachment (Accessories) compatible with existing O.T. Table (Make: M/s. Trumpf Medizin Systeme GmbH Co.KG,

Model: Mars 2.01) (on proprietary basis)

The request is received form faculty of Surgery, JPNA Trauma Centre, AIMS for the purchase of subject cited above item from .M/s. Meriyl MBP IN principle Importer cum distributor for India of M/s. Trumpf Medizin Systeme GmbH Co. KG, Deutschland through their distributor M/s. Meriyl MBP IN India, Delhi on proprietary basis. The proposal submitted by M/s. Meriyl MBP IN and PAC certifications are attached and uploaded on website.

Specification of Horse-shoe attachment (Accessories) compatible with existing O.T. Table (Make: M/s. Trumpf Medizin Systeme GmbH Co.KG, Model : Mars 2.01) are attached

The above documents are being uploaded for open information to submit objections, comments, if any, from manufacturer regarding proprietary nature of the item within 15 days from the date of issue/uploading of the notification giving reference SO/JPNATC/Proprietary-2/M&E/2015-16. The comments should be sent to Store Officer, JPNA Trauma Centre, AIIMS, Delhi on or before dated 05.05.2016 failing which it will be presumed that any other vendor is having no comments to offer and case will be decided on merits

Yours sincerely,

A.K. Sharma Stores Officer (TC)

Encl: Related documents enclosed PAC Certificate

Specification

ALL INDIA INSTITUTE OF MEDICAL SCIENCES ANSARI NAGAR : NEW DELHI : 110 029

PROPRIETORY/SPECIFIC BRAND GOODS CERTIFICATE

- Item/Type/Model No. Required along with specification
- If the item a spare part attachment or accessory for an existing equipment
- Name of the manufacturers/supplier 3. of the item proposed by the indenter.
- Are they sole manufacturers/sold 4. distributors of the item.
- If there any other item with similar equivalent specification available in the market to meet the job requirement envisaged. if the answer is yes, why the same can't be procured. Demanding officer should bring out comparative functional advantages/cost effectiveness of the recommended item from these offered by other.
- What were the efforts made to 5. located alternative source of supply or use other substitutes.
- Why open/limited tender can't be resorted to, for locating alternative source.
- Are the proprietary items 8. certifying that the rates are reasonable or not.
- Any other justification for 9. procuring item from single source.

Signature of Indenter (Demanding Officer

Horse- shoe attachement for existing OT. Table.

Ms. Trumple

NO

(COUNTERSIGNED) (Head of the Department)

I certify that the item at Sr. No. 1 above is required to be procured on single tender basis as the source of supply is definitely known the specified brain proposed was advantages in meeting our functional requirements and limited tender system could be dispensed with as they would serve no useful purpose in this particular case

(Strike out whichever is not applicable)

TRUMPF Medizin Systeme GmbH + Co. KG Carl-Zeiss-Straße 7-9 07318 Saalfeld · Deutschland



		Proforma		15		Da	to		
xporter:(6	Beneficiary)	. reterma interes	Date	Offer no. 2015 Meryil_AllMS-JPNA	Tenuma Centre	0.000	-Aug-15		
TRUMPF Medizin Systeme GmbH + Co. KG		5092015	5-Sep-15	2015_IVIETYII_AIIIVIS-JPINA	Traditia centre	120	7(06 13		
ENZSTRAS	SSE 26,	Terms of Delivery and I							
2178 PUC	ннем,	Dispatch: Within validit			t ciaht)				
ERMANY.			Payment Terms: 100 % by irrevocable Letter of Credit (payable at sight)						
		Mode of Shipment: By	Mode of Shipment: By Air						
		Incoterms: 1) Carriage	Incoterms: 1) Carriage and Insurance Paid To (CIP) New Delhi Airport 2) Customs Duty and Clearance Charges at New Delhi Airport should be done by Importer(AIIMS JPNA)						
mporter:(Bill to address)								
o,		Other References:	Other References:						
he Chief,		Delivery / Shipment : V	Delivery /Shipment: Within 12 weeks after receiving of original acceptable LC Date & Place of Expiry: 30 days after "Latest Shipment Date" in Germany						
PNA AIIM	S Trauma Centre			r Latest Snipment Date in	Germany				
AIIMS		Partial Shipments : Allo							
Yew Delhi		Transshipment : Allowe	ed						
		Warranty : 1 Year	Warranty: 1 Year Performance at Site: Installation, Training, and Service will be carried out by our local representative						
mporter:	(Ship to address)	SAA COMMON CONTROL OF	Banker Details:						
Го,		Bank Code: 820 700 00	Deutsche Bank AG Erfurt						
The Chief,		Account No.: 3741550	Charles and						
	S Trauma Centre	SWIFT CODE: DEUTDES	and the state of t						
AIIMS			IBAN: DE83 8207 0000 0374 1550 00						
New Delhi		Airport of Discharge		Country of Dispatch		Final Destination			
HS Code Airport of Loading 94029000 Any Airport in Germany		Any Airport India		Germany		New Delhi - India.			
9402900	Descrip	ntion of Goods				- 0			
	MEDICAL EQUIPMENT :	Accessories for Mars OT Table.		Quantity	Rate (EUF)	Amount (EUR)		
Sr.Na	Item no.	Description	-2	1		\perp			
	4544785	Adapter for head positi	ioning	2	€ 603	.11	€ 1,206		
1	1218970	Basic Unit Neuro		2	€ 3,470	.04	€ 6,940.		
2	1218969	Scull clamp adapte	er	2	€ 917	.70	€ 1,835		
3	1218968	Scull clamp		2	€ 4,76€	.63	€ 9,533		
4	4145420	Scull pin for adult	t	2	€ 439	.73	€ 879		
5	4145421	Scull pin for childre	en	2	€ 438	.85	€ 877		
6	4544436	Crossbar attachme	ent	2	€ 538	.80	€ 1,077		
7	1218804	Clamp radial settin		2	€ 205	.09	€ 410		
8	1708609	Head ring for adu	lt	2		0.000000	€ 199		
9	1708611	Head ring for childr		2	€ 99	20.7035	€ 199		
10	4549732	Headrest horseshoe-shaped		2	€ 424	1.95	€ 849		
11 12	1317948	Retainer for headre	ests	2	€ 12:	1.66	€ 24		
12	1				*				
		Total Net, Ex Works ((EUR)				€ 24,252		
							€ 1,080		
l		Freight & Insurance Cl	Freight & Insurance Charges				€ 1,080		
	1	l I		1	l l	- 1			
	1			l l		- 1			

Amount in words EURO : Twenty-five thousand, three hundred thirty-three only /-Hill-Rom India Pvt Ltd.

Pankaj Vadhavakar - Country Manager India

Authorized Signatory

A part of the Hill-Rom® Corporation

Store section



TRUMPF Medizin Systeme GmbH + Co. KG Postfach 24 44 · 07310 Saalfeld · Germany

TO WHOM IT MAY CONCERN

TRUMPF Medizin Systeme GmbH + Co. KG

Carl-Zeiss-Straße 7-9 07318 Saalfeld

Phone +49 3671 586-0 Fax +49 3671 586-41105

med@trumpf.com www.trumpf-med.com

Your contact

Christoph Schmotz

Phone extension Fax extension 41406

41225 christoph.schmotz@de.trumpf.com

E-Mail Date

9/3/2015

Information

Herewith we, TRUMPF Medizin Systeme GmbH +Co. KG, who are having factories in Germany, Carl-Zeiss-Straße 7-9, 07318 Saalfeld, declare that the listed accessories below can only be mounted on Trumpf Medical operating tables TruSystem 5500, TruSystem 7500, TruSystem 7000, Mars, Saturn Select and Titan.

	Material No.	Description	Qty.	Unit
Sr.No.		Adapter for head positioning	1	pce
1	4544785		1	pce
2	1218970	Basic Unit Neuro	1	pce
3	1218969	Scull clamp adapter		+
4	1218968	Scull clamp	1	pce
5	4145420	Scull pin for adult	1	pce
6	4145421	Scull pin for children	1	pce
7	4544436	Crossbar attachment	$-\frac{1}{1}$	pce
8	1218804	ti la strian		pce
9	1300662	Headrest X-ray	$\frac{1}{1}$	pce
10	1708609	Head ring for adult		pce
11	1708611	Headring for children	1	pce
12	4549732	Headrest horseshoe-shaped two parts	1	pce
13	1317948 Retainer for headrests		1	pce
14	1312735	Adapter X-Ray double joint wide		pce

This information does not replace, that the user manual and the planning specification of the operating table system must be minded.

TRUMPF Medizin Systeme GmbH + Co. KG

Christoph Schmotz

Head of Product Management

Trumpf Medical

TRUMPF Medizin Systeme GmbH + Co.KG Carl-Zeiss-Str. 7-9, 07318 Saalfeld www.trumpfmedical.com

TRUMPF Medizin Systems GmbH + Co. KG, Sitz Saalfeld, Amtagericht Jena HRA 502248
Unlimited Libellity Partner: TRUMPF Medizin Systems Beteiligungs-GmbH, Puchheim,
Amtagericht Michael HBB 139255
Manazing Board: Dr.-Ing, Eckhard Meliners

Enhancing outcomes for patients and their caregivers:

